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Seat No.: _____                                                      Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Semester -III  Regular  / Remedial Examination December - 2010 

Subject code: 330904 

Subject Name: Generation &Transmission of electrical power 
Date: 29 /12 /2010                             Time:  10.30 am – 01.00 pm 

                      Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version Authentic 
 

Q.1  State the function of following with appropriate diagram:                  

(a) Electrostatic precipitator       (b) Cooling tower  (c) Condensor        

(d) Forebay  (f) Air system of diesel power station   (e) Moderator        

(g) Draft tube  

14 

Q.2    

 (a) Explain the effect of system voltage and power factor on volume of 

conductor and efficiency of transmission line. 

07 

 (b) Write a short note on a “Load dispatch techniques”. 07 

  OR  

 (b) Write a short note on a” Methods of coupling used in PLCC”. 07 

Q.3    

 (a) Derive the equation for calculation of sag for equilevel supports. 07 

 (b) From following data compute actual sag and vertical sag. Weight of 

conductor = 0.9 kg/m, Cross section area of conductor = 125mm
2
, 

Ice Coating = 12mm(radial), Wind pressure intensity = 50 kg/m
2
(on 

projected area), Ice density = 915kg/mm
3
 , Breaking strength of 

conductor material = 42 kg/mm
2
, Factor of safety = 2.5,  Span = 260 m. 

07 

  OR  

Q.3 (a) Define string efficiency. State the factors on which it depends and explain 

insulationgrading  method of  improving string efficiency. 

07 

 (b) The voltage across insulators are 60% and 40% of line voltage 

respectively in a string of two units suspension insulators, Find the ratio 

of self capacitance to shunt capacitance of insulators. 

07 

Q.4    

 (a) Enlist the different types of voltage regulator. Explain the construction 

and working of “Tirril voltage regulator” with suitable sketch. 

07 

 (b) State the advantages and disadvantages of Hydro power station 

compared to Thermal power  station 

07 

  OR  

Q. 4 (a) Explain construction and working of speed governor system with 

suitable sketch.  

07 

 (b) Draw schematic diagram of   Nuclear power station and explain its 

working. 

07 

Q.5    

 (a) Explain Wind power plant with block diagram. 07 

 (b) State the advantages and limitations of HVDC transmission system.   07 

  OR  

Q.5 (a) Explain the basic concept of MHD generation and state its advantages. 07 

 (b) Enlist the different types of HVDC system and explain Bi-polar 

transmission system with block diagram. 

07 
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5 | ` G v !5 | ` G v !5 | ` G v !5 | ` G v !     V   VFS°lT ;FY[ lGdG ,LBLTGF SFI¶ H6FJMP        
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14 

 A  07 

    

5 | ` G v Z5 | ` G v Z5 | ` G v Z5 | ` G v Z     V JFCSGF SN VG[ 8=Fg;DLXG ,F>GGL SFI¶ÙDTF 5Z ;L:8D JM<8[H VG[ XlST U]6F\SGL X]\ 
V;Z YFI K[ T[  ;DHFJM P  

07 

 A — ,M0 0L:5[R  8[SŸlGS ˜ p5Z 8}\S GM\W ,BM P 07 

  V Y J FV Y J FV Y J FV Y J F   

 A —5LPV[,P;PLP ;LP DF\ J5ZFTL S5,L\UGL ZLTM ˜ p5Z 8}\S GM\W ,BM P 07 

5 | ` G v #5 | ` G v #5 | ` G v #5 | ` G v #        

 V ;DTM,  ;5M8¶  DF8[  ;[UGL  U6TZL  DF8[G\]  ;}+  D[/JM P  07 

 A GLR[  VF5[,L  DFlCTL  p5ZYL  V[SrI],  ;[U  VG[  J8L¶S,  ;[U XM3M P  
Sg0S8ZG]\ J[>8 = 0.9 kg/m ,  Sg0S8Z VF0K[0G]\ Ù[+O/  = 125mm2,   VF.; SM8L\U = 
12mm(Z[0LI,) JLg0 5|[;Z >g8[G;L8L = 50 kg/m2s5=MH[S8[0  Ù[+O/  p5Zf| VF.;  
0[G;L8L = 915kg/mm34 Sg0S8L\U Dl8lZI,GL A|[SL\U :8=[gY= 42 kg/mm2,  O[S8Z VMO 
;[O8L = 2.5,  :5FG = 260m.   

07 

  V Y J FV Y J FV Y J FV Y J F  

5 | ` G v #5 | ` G v #5 | ` G v #5 | ` G v #        

 V :8=L\UGL  SFI¶ÙDTFGL jIFbIF VF5L   |  T[ SIF D]N|F 5Z VF3FlZT K[ T[ H6FJM P :8=L\UGL  
SFI¶ÙDTF ;]WFZJF  DF8GL  .g:I],[Z U=[0L\\\\U 5w-lT  ;DHFJM 

07 

 A A[ I]GL8JF/F  ;:5[gXG >g:I],[8ZGL :8=L\UDF  | >g:I],[8ZGF JM<8[H VG]S|D[|  ,F>G  JM<8[HGF [ 
60 8SF VG[ 40 8SF CMI  | TM  >g:I],[8ZGF ;[<O S[5[;L8g; VG[ X\g8  S[5[;L8g;GM U]6MTZ 
XMWM   

07 

5 | ` G v $5 | ` G v $5 | ` G v $5 | ` G v $        

 V JM<8[H Z[uI],[8ZGF 5|SFZM H6FJM VG[ IMuI :S[RGL DNNYL 8LZL,  JM<8[H Z[uI],[8ZGL ZRGF 
VG[ SFI¶ ;DHFJM P 

07 

 A YD¶, 5FJZ :8[XGGL ;ZBFD6LDF\  4  CF>0=M 5FJZ :8[XGGF OFINF VG[ U[ZOFINF H6FJM P 07 

     V Y J FV Y J FV Y J FV Y J F  

5 | ` G v $5 | ` G v $5 | ` G v $5 | ` G v $        

 V IMuI :S[RGL DNNYL  :5L0 UJ¶GZ ;L:8DGL ZRGF VG[ SFI¶ ;DHFJM P 07 

 A gI]S,LIZ 5FJZ :8[XGGM :SLD[l8S 0FIFUF|™D NMZL  | T[G] SFI¶ ;DHFJM P  07 

5 | ` G v 55 | ` G v 55 | ` G v 55 | ` G v 5        

 V B\0LI  VFS°lT  ;FY[  JLg0  5FJZ %,Fg8 ;DHFJM P  07 

 A V[R P JL P 0L P ;L P8=Fg;DLXG  5w-lT GF  OFINF VG[ DIF¶NFVM H7FJM P 07 

  V Y J FV Y J FV Y J FV Y J F  

5 | ` G v 55 | ` G v 55 | ` G v 55 | ` G v 5        

 V V[D P V[R P 0L P HGZ[XGGM D}/E}T bIF,  ;DHFJM VG[  V[D P V[R P 0L P HGZ[XGGF  
OFINF H7FJM P 

07 

 A V[R P JL P 0L P ;L P8=Fg;DLXG  5w-lT VM  H6FJM  VG[  B\0LI VFS°lT ;FY[ AF>v5M,FZ 
P8=Fg;DLXG  5w-lT   ;DHFJM P 

07 
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